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1. Two gallons of today’s gasoline do the
work of three gallons of 1925 gasoline. On
the average, how does the price of today’s
regular grade gasoline compare with the
price of regular grade gasoline of 1926
(excluding state and federal gasoline taxes)?

Check one: :
L]

50% ~roater

The same 15% greater

2. In 1951 Union Oil made a total net Check one:

proﬁt of $27,295,971. Of thiﬂ, $15,$1,712 szas
was plowed back into the business to meet
the expanding needs of our customers. $5,276
$11,444,259 was paid out in dividends to our
shareowners. What did these dividend pay- $10,560
ments average per common shareowner? :
o
-
$755 Z, e 4/ ) N
3. How much investment in ““‘tools’ does ; . ¥ .
it require to provide an average job at $3,100 )
Union Oil Company? :
-« | $70,920 '

&, In 1910, Union Oil did an annual vol- Check one:

ume of $12 million. This represented 23% 31
of the total oil business in the West. Today
we do an annual volume of over $276 13%

million. What percentage of the total oil
business in the West do we have today? 23%

Answers:

L The same. The reason: Under our American
profit and loss system, U. S. oil companies have
the incentive to compete for your business. Be-
cause of this constant ¢ncentive they spend mil-
lions of dollars every year on research and de-
velopment to put out the best possible gasoline
at the lowest possible price.

2. $285 per shareowner. $11,444,259 is a lot of
money but it was divided among the 40,093 share-
owners of Union Oil Company. And our largest
gingle shareowner has less than 1% of the stock.

3. $70,920. That’s why in most industries today

you have to pool the money of a lot of people

under legal agreements known as corporations.

Very few individuals could finance the *“‘tools”
_required by heavy industry.

4. 13%. We do over 22 times our 1910 volume.
But we have a smaller percentage of the total
business—mainly because the oil industry is far
more competitive. There are many more oil
companies competing for the business today than
there were in 1910,
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This series, sponsored by the people of Union Oil Company,
isd.edicatedtoadiamuionofhowand why American
lnmmuﬁmoﬁcma We hope you’ll feel free to send in any
suggestions or criticiems you have to offer. Write: The
President, Union Oil Company, Union Oil Building, Los
Angeles 17, California.
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